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; Grey line: exponential fit Peak flux: 4.093+/- 0.543 c/s/cm? ;
= Black line: power law + gauss fit Fluence : 26.68+/- 4.54 clcn? =
= Dashed line: power law Duration 17' 244/ 4 08 s E
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; Exponential fit é
= Expon.time: 6.39+/- 1.37 s (chi*red= 0.74) 3
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; Power law fit é
E Power law index: -1.471+/- 0.282 (chi*-red= 0.74) =
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—  Power law fit plus Gaussian (st.dev.= 91.25+/-81.03 s, fracgs= 1.84+/- 5.14) =
- Power law index: -1.587+/- 0.175 (chi*-red= 0.74) 7
- * | i + LT
= | ﬂ+HMWMH it WﬂwWWﬁ%WﬁﬂWﬁH*“WﬂWHW* +ﬂ+ﬁ*ﬂwﬂﬁw **++j*ﬁ+ﬁ+**+*:mw&w / +Nﬂww% *++*H++*+H*++*++***++***Hw%ﬁw W HWH%E
E | I I I I I I I I I | I I I I I I I I I | I E
0 100 200 30

Time [s]

0



